kS

RTAFE BE DR IR 2D R AT A O P OB K& ORI BIBGE TN 250 & Sl L 72 FEE OfRPL

K| QEANCH - TIEAFR)

% JFEX 2 I W#kAett

T 105-0014
It

R HB X 2 =T H8&E2 5

| GEANCH - T ET D FEFTOFTEH)

AEMER [ EL © KBS EE
SR b= IRk EPARNE =i TR SR v ey (RN (e
B |FIRISRLIC O % 5 27 i o B
G TS DL A fE M
O |F[IRIY R L1 B A s T K 5 ) | I — T H
rne | @ [3=r Ty 1L 5 A ) e — T
T | @ [KBEAEERFEED R L1 B A i T K e ) | I — T H
T5%
pe e g2 | (o] OBREHEFUMIRELL, 500keLl = [ @1 2« 17971007, #7v-260RLL E [¥] @co-H53, 000t L4 |
PDHERIT| (@ THEOK 3 @il (@RS DHE) )
IRENEN A [FEWEEE (5 T FE) ( &Ff 4 )FEHEHE AREEE( Sf 6 4
HEH & 654, 900 t CO: 658, 286 t CO. 640, 527 t CO»
i TS DL T (B 4 ) FEEHHE
O |HIK Y 320, 310 t CO-
o @ |I=~<VI1H 3,499 t C0:
aﬁé%ﬁ ® |KEdespELs 334, 477 t C0s
t CO2
t CO2
t CO2
T AR S 2 AR ~ af 6 4R ( b fELESE)
‘,I‘p‘ = N R TS s N N
o O bk R | (4 ) Ao R AR
JEU AT EL e A 1.1 % 2.2 %| [ FERL [} R
—— =T A DY R & B R e & OEDNA B 5 7= U DM B
@fj;ﬂg‘é% T C 1 A% AT
i%ﬁi)i L;Cl/\%)
BEEEN) kg co/¢ t ) Jkgcoy/( t ) Jkgco/( t )
GRUEEHDHTA)
NeFv—r|  HBEEOLTR N F~v— 7 RiE BEEEHUE (Fn 4 ARFE) |iERiRE
FERE DRI
(3R D B 2 ]

AT E (AIKTY) 12X D,

B ORUHEALR) OB « ZERERIS 238 2 7o 7o O RIE,




[HEHE (AT )

iﬁfﬁ%iﬁAVIﬁ
uﬂﬁxu&

VN e o T
HEEIAH -

ixfii =ik A 18], BREE

Rk AR 2 i L, A5 T ORREERHR DL 2 #ER8.

TR —EHEEE (THR) =3 F—elfEE > L F—FH L% 5

B~ AT AL NV AT A RIS REREIS

[ BEEEBCR R D 72 DI 5k L 7 iE L VA 1 O Bk ]
T DA TR FEht L 7= HEE K VS 1% OB DO N
IR L3 (5 Fn 4 51 it 4)
=RV N BRBR D LEDAL,
K GG EPREER - CHEMOMIEE L L CHEMm DA

T xn~w B o BEEO B EREERLICL A X%
- 2238 BREEHR O H #E Ok

(5% FhE T ESy)

- CEBORE:E L THEHOEH

< Bl BT T UBLIEIC & D kv — 14 B E HLAL O B
T xnw B o BEEO B EREERLIC L A =%

(R LR 2 S5 UG SR~ D A ]

RANT

Eiiig
@E‘X;ﬁﬂ Y
Z DA It
[FFARE= R LE—0iEA]
BNT |
@H‘y}(ﬁﬁ A
£ DAt fi:
[ O FrElFE]
A ‘ B ‘ c D E F G H I
BBEF(SHTEE) 45 B 2R
HE COZstERm | AER | COZESM | CORLE |CORRARES | AER | COMRAR N m':r": i”“‘:
BT t-CO. ton ke-CO./t t-CO, ton kg-CO,/t * *
A/B C/F 1-(C/G) E*H
FL l 307,442 |294,767| 1,043 | 323,809 49.2% | 292,247 1,108 6.2% | -3.1%
“;:f‘k 347,458 |157,338| 2,208 | 334,477 50.8% [157,683| 2,121 3.9% 2.0%
.......................
FEE =
P 654900 1,661 |=6582868 | 100.0% 1,679 1.06%
. L e e e




